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Question No : 1

When configuring your backup software to utilize a Whitewater appliance, what possible
target must the backup software be able to write to? (Select 2)

A. Virtual tape library
B. NFS

C. CIFS

D. iSCSI target

E. Physical tape library

Answer: B,C

Question No : 2

Which mechanisms can cause Whitewater appliance replication to pause or effect the
optimization service? (Select 4)

A. Cloud provider outage.

B. Backup application crash.

C. WAN outage.

D. Whitewater bandwidth settings.

E. Incorrect cloud provider credentials.

Answer: A,C,D,E

Question No : 3

Which Granite appliance feature would be used to implement disconnected operations?
(Select 2)

A. Pinning

B. Offlining

C. High availability
D. MPIO

E. Prepopulation

Answer: AE
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Question No : 4
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Refer to the exhibit. Which interface should be used for the Granite Edge connection?

A. Aux Port

B. EthO_1

C. Eth0_2

D. Primary Port
E. EthO_3

Answer: D

Question No : 5

What are the Riverbed products needed for Granite Edge Infrastructure? (Select 2)

A. Granite Core
B. Granite VSP
C. Granite MPIO
D. Steelhead EX

Answer: A

Question No : 6
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In a solution where Granite appliance is providing projected LUNs to the branch office the
Granite Edge is considered what?

A. ESXi server and LUN
B. MPIO initiator

C. iSCSI target

D. iSCSI initiator

Answer: C

Question No : 7

What RAID protection level is supported on Whitewater appliance?

A. RAID-1
B. RAID-5
C. RAID-6
D. RAID-10

Answer: C

Question No : 8

The Riverbed hardware snapshot provider enables what?

A. Multipath I/0

B. Application-consistent snapshots
C. Crash-consistent snapshots

D. Storage array snapshots

Answer: B

Question No : 9

Utilizing Granite appliance allows customers to: (Select 2)

A. Remove storage from the branch.
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B. Centralize backups.
C. Collaborate on shared files across the whole network.
D. Accelerate centralized file servers.

Answer: A,B

Question No : 10

A crash-consistent snapshot leaves the LUN in the same state as: (Select 2)

A. Warm boot
B. Cold reboot
C. Hard reset

D. Logout

Answer: B,C



